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No. 2 4 6 55 #HIE
E F A TF TF TF & {3z
1 Rk B— sk %k k6 1P
2 @ * #k kk k6 1 P
3 = IR *k kk k% 6 1P
4 INB BIL ®k kk dk 6 1P
5 Af & sk %k k6 1P
6 /Il BE=*= *k %k xk 6 1P
7 INEp EZ3 % %k k6 1P
8 fRiIFX Al *k %k xk 6 1P
9 23F sk %k xk 6 1P
10 28 1EA %k %k %k 6 1P
11 k& 4&HR sk %k xk 6 1P
12 BB & *x %k k% 6 1P
HYA% = 6
soholorciok [ EEIREE ] skkolorok
No. 2 4 6 5 HIE
B F 4 TF TF TF [[=tia
1 R B— * kxx 4 4P
2 XtH * *k * 3 bHP
3 = IEE * 1 10
4 1INEB BBIA 0 11
5 B & *k kk dk 6 1P
6 Al B=F £ %k 3 5P
7 INEp EZ3 % %k k6 1P
8 fRixX Al * x 2 8
9 TE E 0 11
10 28 1IEAI *k K 3 5P
11 1EB&  J5BR *x %k k% 6 1P
12 28 & x * 2 8
=% = 3
sordorkkok [ 3R B ] skokkokkork
NO. E F 4 2 4 6 JBEf
¥ H Tango
1 Rk B 7 2 4 4.0
2 H * 4 4 5 50
5 Hf # 3 3 6 3.0
6 "/l B=xE 5 5 3 6.0
1 INFF g3 1 6 1 1.0
10 258 I8 6 7 71 1.0
11 & EBR 2 1 2 20
g8 H Fox trot
1 Rk B 7 3 5 50
2 @A * 3 7 6 6.0
5 HA 1§ 5 4 4 4.0
6 Rl B=F 4 6 2 3.0
1 INEF B3 1 2 1 1.0
10 88 IER| 6 5 7 1.0
11 &8k &89 2 1 3 20
RERER
No. E F 4 T F A&t
1 Rk B 40 50 9.0
2 @A * 5.0 6.0 11.0
5 HA 1§ 3.0 40 7.0
6 Al A 6.0 3.0 9.0
1 INEF B3 1.0 1.0 2.0
10 88 IER| 7.0 7.0 14.0
11 {EBk &89 20 2.0 4.0
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1 11030202 D R MB—
2 11060082 D *H ¥
3 11020194 D =& IEi&E
4 11050193 D /NA  BIA
5 11030282 D H# 1&
6 11050302 D HIII E=
7 11050304 G /hEp 223l
8 11050308 D fRIX Al
9 11036665 D &:E #
10 11070454 D 25 IEA|
11 11157314 D 5% 584
12 11055735 D REA &
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